
WASHERS 
 

LAMALLOY  L-9®    

HIGH STRENGTH FLAT WASHERS 

 
 

• UNSURPASSED TENSILE STRENGTH 
o STRONG, TOUGH, BUT NOT BRITTLE 
o ELIMINATE DISHING, CUPPING, GALLING UNDER LOAD 
 

• ASSURE SAFE, TIGHT ASSEMBLIES 
o STAY FLAT TO KEEP CAP SCREWS TIGHT 
o ELIMINATE PART SLIPPAGE AND MISALIGNMENT 

 
• MAXIMUM PROTECTION AGAINST RUST AND CORROSION 

 
 
LAMALLOY  L-9®   WASHERS STAY FLAT TO GIVE YOU SAFE, TIGHT ASSEMBLIES 
 
 

         E-010 



WASHERS 

LAMALLOY  L-9®   FLAT WASHERS 

Specially engineered to prevent bending, dishing & distorting 
•   Tensile strength over 180,000 p.s.i.     •   Exceeds ASTM 32, 354 and 490 standards 
      

 

 
 

         E-015 



WASHERS 
 

LAMALLOY  L-9®    

HIGH STRENGTH FLAT WASHERS 
 
 

  

 
APPLICATIONS: 
• INCREASED BEARING AREA TO PREVENT SOFT MATERIALS FROM INDENTING UNDER 

LOAD. 
• GREATER HOLDING POWER IN BRIDGING SLOTTED ADJUSTMENT AREAS. 
• STAYS FLAT ON ROUGH SURFACES TO PROVIDE INCREASED TIGHTNESS. 
• CONSISTENTLY FLAT SURFACE WHERE CONSTANT ADJUSTMENT AND TIGHTENING 

OCCUR. 
 
FEATURES: 
• GREATER STRENGTH TO DISTRIBUTE LOAD OVER LARGER AREA AND ELIMINATE 

DISHING, CUPPING AND GALLING. 
• PREVENTS MATERIAL INDENTING OR COLLAPSE UNDER LOAD. 
• STRONG, TOUGH, BUT NOT BRITTLE    –    TO CUSHION AGAINST SHOCK AND 

IMPACT WITHOUT CRACKING. 
 
 
 

         E-020 

PART # DESCRIPTION PACK
W08-540950 1/4   SAE L-9 FLAT WASHER (BAA)
W08-540952 5/16  SAE L-9 FLAT WASHER (BAA)
W08-540954 3/8   SAE L-9 FLAT WASHER (BAA)
W08-540958 7/16  SAE L-9 FLAT WASHER (BAA)
W08-540960 1/2   SAE L-9 FLAT WASHER (FA)
W08-540962 9/16  SAE L-9 FLAT WASHER (FA)
W08-540964 5/8   SAE L-9 FLAT WASHER (FA)

PART # DESCRIPTION PACK
W08-540966 3/4   SAE L-9 FLAT WASHER (CF)
W08-540968 7/8   SAE L-9 FLAT WASHER (CF)
W08-540970 1"    SAE L-9 FLAT WASHER (BA)
W08-540972 1-1/8 SAE L-9 FLAT WASHER (BA)
W08-540974 1-1/4 SAE L-9 FLAT WASHER (F)
W08-540976 1-1/2 SAE L-9 FLAT WASHER (F)



WASHERS 
 

LAMALLOY  L-9®    

 
A FASTENER ASSEMBLY IS  
ONLY AS STRONG AS IT’S  
WEAKEST MEMBER. 
 
 
TO GUARANTEE 
MAXIMUM PERFORMANCE 
AND REDUCE YOUR 
DOWNTIME AND 
MAINTENANCE COSTS,  
YOU NEED ALL OF THE  
COMPONENTS OF 
THE LAMALLOY  L-9®  
FASTENING SYSTEM 
CAP SCREWS, NUTS AND 
WASHERS. 
 

 
 
 
 

         E-025 




